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CO

3924.83

- CO2/

2680.59 -CO2/

COo2
1244.24 -CO2/

2680.59t-co2/




Cco

385.38t-co2/

338.07t-co2/

47.31 t-co2/

Co

1244.24 -co2/
- 3018.66t-co2/

47.31 -co2/
C02

1291.55 -co2/
4310.21t-co2/

CO2

x 100

29.96
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24KM

31062 X 20.6km X 0.000173
34965 X 24 km X 0.000173

24KM

110.6988 t-CO2
145.1747 t-CO2
255.8735 t-CO2

= 0t-CO2
= 255.8735t-CO2
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5394.54t

640.5038 t-CO2 (
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142.9133 t-CO2 (
497.5905 t-CO2
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CO

896.3773 t-CO2 - CO

142.9133 t-CO2 =

753.464 t-CO2

CO2

84.06
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24.0t
T W 23t 23t coz
T ol traae ] = [T
L—
N N 9468 t 60 X 173 =+ 1000000 98.27784 98.28 t-CO2
N = 828 t 60 X 173 + 1000000 8.59464 * 8.59 t-CO2
(360
08 [ co2 106.87 t-Cc0O2 |
5 = 5260 t 9 X 173 + 1000000 8.18982 8.19 t-CO2
N - 460 t 9 X 173 = 1000000 0.71622 * 0.72 t-CO2
(200
08 L_co2 8.91 t-CcO2 |
C
)
N = C 2400 t 20km X 173 + 1000000 8.304 = 8.30 t-CO2
« 08 [ co2 8.30 t-C02 |
3

10687t + 891t + 830t

124.08 t-CO2



240t co2
T W 23t L 2.3t \
263t
;9,468 t 5 X 173 + 1000000 8.18982 8.19 t-CO2

828 t 5 X 173+ 1000000 071622 * 0.72 t-CO2
08 L_co2 8.91 t—COd/
- 5260 t 1 X 173 + 1000000 0.90998 0.91 t-CO2
460 t 1 X 173 + 1000000 0.07958 * 0.08 t-CO2
0.8 __co2 0.99 t-co2 |
I
C 2400 t 12 km X 173 + 1000000 49824 4,98 t-CO2
0.8 L_co2 4.98 t-C02 |

w w

891t + 099t + 498t 14.88 t-CO2

12408 t - 1488 t 109.20 t-CO2
109.20t = 124.08t 88
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6.5km

43.2 t-CO2/

13.2 t-CO2/
3%
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[TacEa—k] E
EBERA TS EENRACSTMCER SEHFmBC=TMCR]
ZEOkm x MOt x S x I x 208 x 160 & 1000000 = 26I-COZ 240km x 10t o 4N 18 x E x 161 = 10000 = 20NM-COZ
[ CHWEIL—F]
BERzRACRERECRRLE
Thm y 10ty B 5 1 . 208 x 161 = 1000000 = ZI1Te-COZ
[TMC KvCL—] [TheC KT IL—F]
i —h—=REmBc>RENRMBC=TMC KVC BEA—H—==HRAC=STME KT
Rk x (0t x S0 x IfF x 208 x 160 & 1000000 = SEN-COZ M0km x 10t o« 4 x 2F ox 0B w161 S 1000000 = 515002
[Fa5ERREL—] [F35#RWEL—]
BEWIMECS |-AFHERE ZHmEC=3YEREE
Ibm o« 10t x 4 = I ow 208 x 160 = 1000000 = 1333-CO02  308m x 10 x MF & 3 x 0B « 161 S 1000000 = 11.78i-C02
wH 2000
=47h=002 FAMMAEE -152%
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TR 5 It 5 & x 2B 5 16 L 1000000 = JE6H-COZ 24Dkm 5 10t 5 4 18 . MHE . 161 = 1000000 = 3I091-COT
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COHlE=® 61.6%



CORImE 34.4%
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